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Find the remainder when dividing f(z) by g(x

)
a) flx)=a3+ 222+ -3, glx)=x-2
b) f(z) = 23 — 5x +8, glz) =z —3
) () =2° 1 o
d) f(z) =25+ 522 — T+ 10, g(z) =z +2
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Determine whether the given g(z) is a factor of f(z). If so, name the
corresponding root of f(x).

a) f(z) = 2* + 5z + 6, glx)=2+3
b) f(x) = 23 — 2% — 3z + 8§, g(x) =2 —4
o) fl) =2+ T2 + 322+ 292 + 56, g(z)==x+7
d) f(z) = 2% +1 g(z)=z+1
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Check that the given numbers for = are roots of f(x) (see Observation
7.10). If the numbers = are indeed roots, then use this information to
factor f(x) as much as possible.

\/a)f(x)=x3—2x2—:1:+2, r=1

(/b) f(z) = 2® — 622 + 11z — 6, r=1xr=212=3
Vo) f(z) = 2® =32 + 2 =3, =3

(/) f(z) =23 + 62 + 122 + 8, =9
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Divide by using synthetic division.
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